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Purpose: Output stage of 3 watts audio amplifier, voltage regulator, DC-DC converter and relay

driver.
W AR/, he e HZRPE LT /Features: Low saturation voltage, excellent hy linearity
and high hes. TO-220 %ﬁ\i mm
W MR 2%t /Absolute maximum ratings (Ta=25°C) — 3"
SRS e LiEA T35
Symbol Rating Unit 10.040.2 13401
Vo -40 V #3.60:0.04
Ve -30 v Nz = ] I
Viro 5.0 v E .
I -3.0 A o S “
Ly -7.0 A 4 :\Q 1}__
P (T.=25°C) 2.0 W RS
P (T=25C) 25 W E .
T, 150 C i R
Toee 55~150 C ;HW L
HL M Be 280 /Electrical characteristics (Ta=25°C) M- 1B 4 C 3 &
AL
SRS M AT Rating FAT
Symbol Test Condition /ME L ARIAE B HAAE | Unit
Min Typ Max
Teno Vep==30V 1=0 -1.0 uA
Tino Vig==3. 0V 1=0 -1.0 uA
hrso) Ve==2. 0V I=-1.0A 60 160 400
e Ve==2. 0V [=—20mA 30 220
Ver(sat) I==2.0A 1,==0. 2A -0.3 -0.5 v
Ve sav) I==2.0A I==0. 2A -1.0 -2.0 V
i Ve==5. 0V [==0. 1A 80 MHz
Cop Ve==10V ;=0  f=1. OMHz 55 pF

hee oy 7344 /hesyclassifications: R:60~120 Q:100~200 P:160~320 E:200~400
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